P
MATH 550  Spring, 2008 Quiz #7 Name: W

1. Compute ff¢

F-dS for F = (9292, 2%, z) for S the closed cylinder, oriented
by outward normals and bounded by z2 + y =4, z=-2,and z=3.
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- 2. (5 points) A small sphere S, of radius 6 is inside & larger sphere Sg, of ra.dlus j

b; the centers may not be at the same point however. Suppose V F=0
hroughout the region D between the two spheres How are the integrals

s, F-0,dS and fs F - 0,dS related, if 1, and 1, represent the outwarcl
normals to each sphere‘? Brxeﬂy explain.
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